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mxoavn A= {(z,y,2,w) € RY; 22 + ¢y + 22 +w? < 1} oo 1 (MTP3 25)

/ U= g dydzduw.
A
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moavn A= {(z,y) € R?; 22 + 2 <1} v 2 (MTP3 25)

max [sinx + siny]
(z,y)eA
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"N LOPAMP TN W f 9w 15,02 mpon L f, ¢,V : R” — R nvspns mnm .3

n

/n gAf —Vf-VV)eV = —/ (Vf-VgeV (MTIPy 15)

/ g(Af =V f-VV)eV = / f(Ag—Vg-VV)e ™V (a) (MY 10)
n Rn
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D19om § € R? npr Mop o»p ox ”h amna n2ov” anapy A C R3 avap 4
WO b—a=hoyabeR

A:{x€R3;a§x-9§b}.

R3 -3 npron noo ,$% = {2 € R3; |z| = 1} oo

27h 9y N9 wr AN S? iR Now 2 N A amna naov A C R3onn (8) (MTP) 15)
3N P Ta 1/1000 ama2 190 Ay, ..., Ajgee C R? maow mnmy () (M 10)
1999
¢ | A
=1
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PN A C R? nmins nviap nnrpw o3 .CL pon p1on-1T nown M2 C R3 s 5 (MTP) 25)
w1 f,g,h: A— R moxia mn
C{(z,y,2) €eR?; (z,y) € A, 2= f(2,9)},
2C{(z,y,2) ER?; (3,2) € A, y=g(x,2)},
2C{(z,y,2) R’ (y,2) € A, =h(y,2)} .
(x,y,2) € M? a1y 939 25 meoin
dg oh
“J it L2 =1
g DY) 5 (2, 2) ay (y,2)

{(z,y,2) € U CR3 qwno U N M? -2 nDANNNY 1P8P9 WHNYA 1107)

9 TN 7 Ty



9 TN 8 Ty




A(NONRYN 901D NN IIMN) M 9T PNINON TYNN DX MY TNND DTN

9 TN 9 Ty




